More Series

Anton 11.10

Important Maclaurin Series: memorize

Interval
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Important Maclaurin Series: memorize

Interval

1 L of conv.?
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Important Maclaurin Series: memorize

Interval
tan*l . - (“1)’2 XZ}H«]_ L mi+ mi B of conv.?
puvent rr— e [_1’ 1]
“~ 2n+1 3 5
The following you do NOT

need to memorize (prepare to
have your mind blown.)
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Find the series for: e*
]
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Euler’s Formula, or Euler’s Identity
e =cosx+isinx

Using the special case whenx=n

ir

e’ =-1

e” +1=0
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AP Packet #21 (1995 BC4)
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Homework:

Chapter 9 AP Packet
#9 -17 odd, 22, 29




